restart

B = lunes, martes, miercoles, jueves, viernes, sabado, domingo
B = lunes, martes, miercoles, jueves, viernes, sabado, domingo

B6
sabado
dia == [B]
dia = [ lunes, martes, miercoles, jueves, viernes, sabado, domingo |
dia,

miercoles
DiaHabil = dia[1..5]
DiaHabil := [ lunes, martes, miercoles, jueves, viernes |
FinSemana = dia[6..7]
FinSemana := [ sabado, domingo ]

Matriz = array([[1,2,3], [4,-5,6],(7,8,91])

1 23
Matriz=|1 4 -5 6
7 89

Dias = {B}
Dias := {domingo, jueves, lunes, martes, sabado, viernes, miercoles}

DiaAlfabetico := sort(dia)

DiaAlfabetico := [domingo, jueves, lunes, martes, miercoles, sabado, viernes |

with(linalg) :
WW := wronskian([exp(3 x), cos(5x),x--3], x)

3x

e cos(5 x) X

WWw=|3¢* -5sin(5x) 3x°
9¢’* -25cos(5x) 6x

Sistema ‘=x+2y+3z=5,-x+6y—9z=-13,2x =3 y+6z=3: Sistemay; Sistema,,

Sistemas;
x+2y+3z=5
-x+6y—9z=-13
2x—3y+6z=3
Raiz == solve( {Sistema}, {x, y, z})

Raiz = {x= —5,y=1,z=§}

Raiz|; Raiz,; Raizs;

x=-
y=1
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> FEcuacion := 2-y(x) - (diff (y(x),x) +2) —x-(diff (y(x),x))--2=0

I Ecuacion =2 y(x) (% y(x) +2) —X (% y(x)) =0 14)
> Solucion = dsolve({Ecuacion}) : Solucion,; Solucion,, simpllﬁ/(Soluciong,);
{y(x) =0}
{y(x)=-4x}
1 (-x+2 cz)z}
i v = i as)
> plot(cos(3 x), x=-Pi..Pi)
T T T T T T
-3 -2 1 2 3
X
:> restart
| > with(linalg) :
> Matriz == array([[1, 2, 3], [4,-5,6],[7,8,91])
1 23
Matriz:=| 4 -5 6 (16)
7 89

_> det(Matriz)
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i 120
> InvMatriz = inverse(Matriz)

39
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InvMatriz .= 20 10 20

67 L 13
120 20 120

_> Identidad = evalm( Matriz &* InvMatriz)

1 00
Identidad:=| 0 1 0
001
=> evalm(Matriz);
1 23
4 -5 6
7 89

(> fi=x3—x-2+x—1=0
f:=x3—x2+x— 1=0
> raices = solve( f, x)
raices = 1,1, -1

> restart
> Ecuacion = diff (y(t), t$3) —9 y(t) =5-exp(t)
3

Ecuacion = % y(t) —9y(t) =5 e
t

> Condiciones := y(0) =5,D(y)(0) =-3,D(D(y))(0) =-1;
Condiciones =y(0) =5,D(y) (0) = -3,D? () (0) = -1
> SolucionParticular == dsolve( { Ecuacion, Condiciones}) : evalf (%, 2)
y(t)=-0.62¢ +15¢"" " +42¢ " cos(1.87) —0.63 ¢ ' sin(1.8 1)
> plot(rhs(SolucionParticular), t=0..1)
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;> restart
> solve({3.2x +13y+42z=587x+19y+11.2z=94,x+ ‘Z— +z=1}, [x,y,z])
[[x=10.4969502408, y =5.187800963, z= -0.7939004815]]

2dsolve
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